[bookmark: _GoBack]Převeďte:
72 cm = ................................... mm
67,62 mm = ................................... m
2 002 000 dm = ................................... km
23 m = ................................... cm
870 dm = ................................... km
0,36 dm = ................................... m
76,2 dm = ................................... cm
63 200 mm = ................................... m
0,077 m= ................................... km
220 m = ................................... mm
0,003 8 km = ................................... cm
2 707 cm = ................................... dm
23 dm = ................................... mm
370 000 mm = ................................... dm
76,67 m = ................................... dm
62,7 mm = ................................... cm
0,707 mm = ................................... cm
0,000 083 km = ................................... mm
2 280 mm = ................................... dm
233 000 cm = ................................... m
2,007 km = ................................... dm
0,006 m = ................................... cm
6,026 km =................................... m
32,36 cm = ................................... m
27 607 mm = ................................... cm



Řešení
72 cm = 720 mm
67,62 mm = 0,06762 m
2 002 000 dm = 200,2 km
23 m = 2 300 cm
870 dm = 0,087 km
0,36 dm = 0,036 m
76,2 dm = 762 cm
63 200 mm = 63,2 m
0,077 m= 0,000 077 km
220 m = 220 000 mm
0,003 8 km = 380 cm
2 707 cm = 270,7 dm
23 dm = 2 300 mm
370 000 mm = 3 700 dm
76,67 m = 766,7 dm
62,7 mm = 6,27 cm
0,707 mm = 0,070 7 cm
0,000 083 km = 83 mm
2 280 mm = 22,8 dm
233 000 cm = 2 330 m
2,007 km = 20 070 dm
0,006 m = 0,6 cm
6,026 km = 6 026 m
32,36 cm = 0,323 6 m
27 607 mm = 2760,7 cm

